w I
2)9(75%%5%’&31751‘E€1§9‘Cﬁ2<]

KD 2 RSTEREIRE 7 S o

O x*-7=0 @ 2x*-6=0
® (x-5)’=11 @ (x-2)*-6=0
G x*+6x=5 ® x*-8x-7=0

BREE - T OERT D> O0— R NE [BHDY KU THE  https://www.okadori.net © LD R



w I
2)9(75%%ﬁ€$75$ﬁ€r1§3‘(ﬁ@<]

KD 2 RSTEREIRE 7 S o

O x*-7=0

N

x==

=
|

=
[\
I
H = =
I
-

S

=
Il

® (x-5)*=11
x=5i\/ﬁ

(x—5)*=11
xX—5= i\/ﬁ
x=51m

x’+6x=5

¥’ +6x+3°=5+3
(x+3)*=14
x+3= im
x=-3+/14

(x—2)"-6=0
(x-2)"=6
x—2==/6
x=2i/g

x*—-8x—-7=0
x=2¢/§

x¥’—8x—-7=0
x'—=8x=7

X’ =8x+4°=T7+4
(x—4)*=23
x—-2==/23
x=2%/23

BREE - T OERT D> O0— R NE [BHDY KU THE  https://www.okadori.net © LD R



